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Q1. A. and the cost price for the buyer is reduced
B. in the end, every time an individual is able to
claim

C. because of a lower tax liability

D. input tax credit, the sell price is reduced

(a) BACD

(c) BADC

(d) CABD ;) BpAC
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Q2. A. in 2017 the GST Bill was passed
B. in the Lok Sabha and Rajya Sabha
C. the GST Law came into force

D. on 1st July 2017.

(a) ABDC

(b) ADBC

(c) ACBD

(d) DBAC

(a) ABDC
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Q3. A. infrastructure in the power sector in Manipur.
B. Union Minister assured that the Government of India
C. would provide the required financial assistance for

D. strengthening and improvement of
(a) ABCD

(b) BCAD

(d) BCDA

(d) BCDA
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Q4. A. pretended to discover the impossible
B. those who claim to discover everything
C. may be confuted as having actually

D. but produce no proofs of the same
(a) BCAD

(b) BCDA

(d) DABC

(c) BDCA
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S. The government should have launch such projects
which would reverse the destructive cycle of
flood and drought.

(1) must be launching

(2) should launch

(3) should have been launched

(4) No change required

(2) should launch is the right usage.
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6. To practise any art properly require
extraordinarily patience especially at the
beginning.

(1) required extraordinarily patient
(2) requires extraordinary patience

(3) requiring extraordinary patience

(4) No change required

(2) requires extraordinary patience is the right
usage. The word patience is Noun. An Adjective is
used with a Noun to add something for its

meaning
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7. A committee comprising imminent experts
from various fields was set up.

(1) comprising of imminent

(2) comprising into eminent

(3) comprising eminent

(4) No change required

(3) comprising eminent is the right usage. The word
imminent means likely to happen very soon. It
does not make any sense in the sentence.
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8. The dinner party hoisted by the President of the club
was cancelled due to some unforeseen problem.

(1) hosted with  (2) hoisted with

(3) hoisted for  (4) hosted by

(4) hosted by is the right usage. The word hoist
means raise something to a higher position.

Clearly, a dinner party is never hoisted, but
hosted.
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9) We need an environment that allows the
political leadership to acknowledge the
mistakes that is bound to arising as part of
their job.

a) Are bound to following

b) Are bound to occur

¢) Is bound to happen
d) Is bound to appear

1) Answer: b) 'are bound to occur' is the
correct option which makes a
grammatical and contextual sense
here
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10. The workers make small heaps of garbage
alongside the roads and sets them into fire in the
morning hours.

01. Setiton fires as

02. Set them on fire in
03. Set them onto fire in
04. Set them into fire at

Answer: 2)

‘Set them on fire’ should be used.
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. The fallen leaves releases nutrients to the

water supporting many species of fish.

01. Release nutrients of the water

02. Released nutrients at the water
03. Release nutrients into the water
04. Releases nutrients for the water

Answer: 3) Plural verb is to be

used corresponding to ‘leaves’.
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12. Tigers are bad in needed of guards to
protect them from poaching and other
threats.

01. Badly need in

02. Badly in need of
03. Bad needs on

04. Badly on needs off

Answer: 2)
‘Badly’ should come before ‘in need’

— which serves as an adverb.
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write for competing and not for expressing.
01.
02.
03.
04.

SSC CHSL 2022-23

. Many youngsters taken up written at a task and

Taken up writes for
Took up writing where
Take up writing as

Taken up write on

Answer: 3)

‘Take up’ means ‘choose’.




14.

01.
02.
03.
04.
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In case the sirens or horns produce sound in
excess of the prescribed limit, these should be
removed under the vehicles concern.
From the vehicles concerned
Over the concerning vehicles

Behind the vehicles concerns

Into the vehicles concerns

Answer: 1) ‘Concerned’
functions as an adjective, in the

sentence.






